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Third Gateway – Calculus – Fall 2013
(1) Find all real solutions to the equation (x2 +8x+ 16)(x2 + 4x – 5) = 0.

(2) Find the radius and center for the circle with equation x2 – 10x + y2 + 12y = 3.

(3) Factor completely (over the real numbers): x4 + 8x2 – 20.

(4) Reduce the following to a single term: 
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(5) Simplify the quotient: 
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(6) Given that sin x = –3/5 and that x is in the fourth quadrant, find cos x.

(7) tan(
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(8) Find all ( so that 0 ( ( ( 2( and tan2 ( = 3.

(9) Find all x so that |2x – 1| = 1.

(10) Find an equation for the line perpendicular to the line y = 3x – 7 and passing through the point (1, -2).

(11) Find the distance between the points (-1, 3) and (4, 15).

(12) Given that f(x) = 
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and g(x) = 
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find f(g(4)).

_1078042441.unknown

_1441112797.unknown

_1078042104.unknown

_1078042134.unknown

_1078034591.unknown

